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Answer bricfly any Five parts from the followings. 5%2=10 —&//// uUi’/"’;‘{:l]l@Lc,ch,u‘J)bu _2/()!/
Define restoring fm'cc.._L[/L.,é)/‘.’.(;((f/)‘_(‘///:‘”@ Gi) Defing wave motion. f' - Uu ) ]
e time period ol Simple Pendutam is 1.99s. find its frequency. l,f/(}‘”u’wf/uuum 99\»//%/. fads S Gid
What is meant by Intensily of Saund? ~_:1/L~' 2 ul/._)i u ':vl (iv)
what is meant by audible Imqm.nmyhmECJ .‘,»l/l// u,wur = .._/L*JL- )
Define reflractive index. wu"" .y J w‘rE/J (vit) Define Convex mirror. -~ JJ/‘)JJ/L)/C)J (i)
Pescribe the sign convention of focal lenpth for Lens. «L/:‘) Yool n/;,mc"k)’:’d/) (viiD)

Answer briefly any Five parts from the followings. 5x%2=10 _L_[//,/-'czklﬁ/‘;;ZJZI@[;o()fcgﬁg)_’i(yu -B/Jlr
Deline clectric power and wrile its unit, _‘Eﬁf&-_,:b/tﬂ/,]:.;f_,;/ﬁJJ,&__f/:Q] ®
Seate Joule’s Law and write its formula. GJr/Gb/JU)I’f/J/jJu)G ' Ji’ (i)
Define electromotive force and writc its unit. _Jw s En J/JJJ:’)’,V‘:/QI (iii)
What is meant by mutual Induction. “c_)l/U/c,“_erJ’/ €] Definc Lenz's Law. _&J/“ Jg)ib LA G
Define OR gate and write its truth table. _ﬁgl_)’ IS Ze J/’J Jor ()

(Lf Aiey (i)

Wirite the names of logic operations.

Draw a symbolic diagram for NAND gate and write its fruth table.
Answer bricfly any Five parts from the followings. 5u2=

Define clectric field intensity and write its unit.

Deline capacitance and write its unit.

Write two uses of capacitors.

How are light signals sent through optical fibres?

Define internct and write two services of fnlernct.

What are browsers? Give their two examples.

What is ieant by [sotopes? Write the names of Isotopes of hydropen.

Write the causcs of had( ground radiations.

Note: Attempt any Two Questions.
Deline shimple Hannonie Motion. Prove thal Motion of Migss
attached to a spring is simplce harmonic motion. Also write down its
Time period cqualion
A point charge of +2C is transferred from a point at potential
100 V to « point al potential 50 V. Whal would be the encrgy
supplicd by the charpe?

Deline electromagnetic induction and cxplain it with example.
An object 30 em tallis located 10.5 cm from a concave mirror with
focal length 16 em Find -

(i) Where is the imape located G How high s it?

What is Nuclear Transmutation? Explain Beta Decay with examples

A corrent ol 3mA is tlowing through a wire for I minute. What is the

charge Nowing through the wire.

9x2=18
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Absorb S Rclcus-c dr Absorh U()’ Release U5 | When a heavy nucleus splits into two lighter nucled,
chemical chemical nuclear encrpy nuclearenerpy | (he process would
CnC['i;y Cl]CI'gy
% 7 D T R (TR % e
i F et u.fjop_v_.f Lﬁ(}’ngl{ DAY P s Sorr u»ﬂ J/_- =2
Inhoth e and |y yeparticle | In Beparticle | Inu=particle. I“l;!r; less penerating power,
[3 purticie Py
. T & ek vy’
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Volt-ampere Farad Ampere Volt 7, ic mm of capacitance is
0.60 Hz 0.50 Hz 0.40 Hz 0.30 Hz ¥ S jinsl T=1, 99{0 4
% Sod iy 4
I .99 sce then fregueney s
T o . . ’ Il g ") . '
f"-'JZ," j::b(-}._./:[ s ,{/ s 5= In a vacuum, (= VQ{..del.g;u@—?;/, Irl/u’Uﬂ 5
Same v
waveleng(h Same same Same speed all electromagnetic waves have the same
amplitude frequency
sddh e P b Ul e Froea 350807 |0
Amplitudc Wavelength Period Frequency The loudness of sound is more closely related to its
o osltwar 5 iloa S st 57
. i = J ) " Sy v Which type _c.L “CIU! a.,n(_, J(;"//J; 1
Uprightand | Uprightand | Inverted and | Inverted and
Wirtial vesl it ] of image is formed by a convex lens on a screen?
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Answer briefly any Five parts from the followings.  5%2=10 -g,{/4/>'s>!,l:2/'3£llfl é&a(j:{c’uﬁ‘)’_,@u ..2/.":(Jfr
SO e Lips s 2Dy se (D

Differentiate between Mechanical wives and l"‘lcc(ronngmlic Waves.

Describe how the sound is produced? ~& d)’u/C/’/ S fJb(m) Define restoring Force. -(_[/(;—{.‘_]/JJL//); L G
Caleulate the frequency of sound wave ol'specd siv=340 st ,,ff‘.“u_‘/-‘rjl"‘tf._?g/'Ji'SV (iv)

340 ms ™ and wavelength 0.5 m. -xA =05

Differentiate between Principal Axis und Principal focus. ~L//(J(/L)/LJVJJ£J )’J//JJ‘/ | -. , (v)

What is mirror formula? Write its equation. S :L/oélo' Lf.b’/ o i)

Define centre of curvature of mirror, il i 7 d, ST AL, Gid)

Differentiate between concave mirror and convex mirror. ~L£/CJ.L5L,J/CJ~VJ) LJ/L/w /Jl//)f"/ (viii)
Answer bricfly any Five parts from thc ﬁ)llowmpq 5%x2=10 _(/ﬂ//ju-,y,z,»«”—'“’.i:7zrégc,,d,fc_.u.‘.¢;z~,p _jﬁ'}dl!"
Write truth luble for NOIL gate. _..,_,J;/ J J«/WW’NOR Gi) State Chm'’s law? /’rul, uﬂli‘b’fﬂ )
S el U e A R s 2 G
d&p;l&;;q/JJ/’;J’“ Gv)
State lenz's law, -1 2=l o K/J (v)
g XQJ})ZTE_/(JL”MJA%’QUVQ Wy (i)
in solenoid. - ..g//‘?dr“ibﬂ,i/

..&.,l/ﬂ/yl,l)»/(/mlf //\_/l:(/JJ;‘ 'u/u//lﬂ (vii)
Bxplain dipital electronics with the help of its two uses. :_:_:»L.n/madt'“!»JJf: (viii)
Answer briefly any Five parts from the followings. 5x%2=10 _J// 7’.._«1, j’/‘" .{:!]ff’;Lc,df:,u"J;bu Jl/"dr/

Write the names of two diclectric, g[/4f((. ._f/gld!w (i) Define Llectrostatic Induction .2 \.J’/JJJ »lh_ﬁ/:/gl (i)
-y uw*‘c_ ek G
e u/(fg‘/ﬂul/»l/»/; Gv)
Write down the name of four web Browserse (‘L/_/_/uﬂ/uub (vi) Write down two services of Internct. ﬁngﬂj)Jw/’(\’)
vq///é—)dl/u_’]/ J/.._,L/L‘l (vii)
IS F el AT ks (i)

Write cquation fur cquivalent resistince for parallel cambination of iesistors.

Define potential dilference and write its unit.
Explainripht hand grip rale o find the dicection of mapnetic field

Write down Boolean expression and circuit diagram for OR opcration.

What is the unit of capacitance? Define it.

Differentiate between Hardware and Software.

Define Atomic Number with cxample.

Write two uses of Radio isotopes.

Note: Attempt any Two Questions. 9%2=18 _u’f/ful,li’ﬁuwruc_.d; HOY
wd{Qch.ulyl/‘/c;qul}J»:L/Ku’l u’f_ﬂ/)u»;bqfu 1(a) -5
Define Intensity of sound. What is its relation with Loudness of Sound, Explain it.
(IpF = 1078 F) By /by Jitmit bz e b ove s by o fi et of £ UE o Jﬂ,ll Atk (o)
Three capacitors with capacitances of 3.0uF,4.0pF and 5.6uF arc arranged in series combination to a be altery of Gv whuc > IpF =107 SF Find.
The total capacitance ol series combination J u (le/d/u’// )

The voltape across cach cup: 1cxlmo 313 }’h__/’ 2D The quantity ol charpe across cach L.lde luul»fg,((//l.v// -5 Gi)

Deline NAND gate. Fixplain its use in house s: ety alarm or JL‘V’I c !u.((/[ll/b/) IS _,,JJ/_»' "J f ~ ()6
burghur alurm, f WJU(
Anobject 30 em tall is located 10.5 ¢cm from a concave mirror (_,(J//(;;“_J’/_:.(:.«L*'Gsf.,lo Semeny oy ( b’)l30 cmwfl ®)

VJC—UL{L 17716 cm af‘K‘U’)’
Whatis nuclear fission? Explain with the help ofan example, Srerle s urdl/“c:.,)!/U c:,J /’ 7 Gy

Iftwo resistors of 6 K€Y and 4 XQ are connected in series S bbre 3ty pe 810 \/u/uzizi il K.Qf o
across a 10V battery then find the cquivalent resistance of the
‘——(7L‘/Lf/ L}/u,‘l ’l‘_/.u” u/'/vlL/ ULS Loe Jv -

combination and potential difference across cach ol the

resistances.
1024 - 1021aLr - 55000

with focal length 16 em. Where is the image located?
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